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data = pd.DataFrame({'/&&S": ronglianhao, 'EHi#3E : phy dict_qufu mean list, '{i#i¥9{E : phy dict _kangla mean list, 'JEfE#3E': phy dict_yanshen _mean list,
'EERiR#EE" : phy_dict qufu_std_list, 'iifidn#E": phy dict kangla_std list, 'HEE@Zin#=': phy_dict_yanshen_std list, 'El': np_E1l, 'E2': np_E2,
E3': np_E3, 'E4': np_E4, 'E5': np_E5, 'E6': np_E6})

data

BT ERSE  ANSE EEFSE BEREEE RAIREE  EEFEREE Et E2 E3 E4 ES E6
90623 284.117647 304.411765 11.558824  4.042165  3.532352 0.565747 0.4965 1.0260 0.2155 0.1825 0.1070 0.0620

90622 280.833333 301.233333 11.733333 4865411 4192719 0.703957 0.4990 1.0325 02220 0.1840 0.1050 0.0625

0
1
2 90621 279.000000 300.812500 11.328125  4.183300  3.385978 0.786700 0.4935 1.0200 0.2290 0.1845 0.1020 0.0605
3 90620 283.088235 303.794118 11.558824 5232071  4.350655 0.683468 0.4915 1.0165 0.2125 0.1800 0.1040 0.0620
4

90819 283.000000 304.400000 11.500000  3.346640  2.823709 0.645497 0.4945 1.0240 02175 0.1860 0.1155 0.0625
265 90020 277.718750 300.531250 11.203125  4.570519  3.699530 0647825 0.5025 1.0255 0.2085 0.1905 0.1070 0.0830

266 90019 283.366667 305.166667 11.300000 4.408199  3.899430 0.556776 0.4920 1.0140 02085 0.1810 0.1090 0.0840
267 90018 276.605263 299.763158 11.710526  3.039559  2.905840 0545696 0.4955 1.0115 02120 0.1770 0.1200 0.0845
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AT R —IRZ M E B2 HT, SR A Python(fRHS MLE 3%)iE4T OLS 5] A%} %k
AT B E AR

2 2 AT S TR A FH Durbin-Watson & 46, BN HAHIC RS o MEST-1 AT 1 2 [H],
FiLl 0SDW<4 Jf H DW=0=> p =1, BIf£{E IE KM DW=4<=>p =—1,
BIfFE S HASEME, DW=2<=>p =0, RIAMEE (—F) HMME. FHik, %4 DW
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KM XA R ERNE DW Gt BRI A, a4 € WK T, iR Im AHE 1AL
BT DO SRR HO AT RS .

[FEI A 2] T Jarque-Bera a3, ARGttt &€ LON:

B = n—k+1
6

JBHERIEE, WRGHER K TE, WIS A RGBS AmRE, "Te
(S E W CI S iy iy

7E Durbin-Watson 1536 /& Jarque-Bera 636423 /& 12514, £ Python HiZ 2 &7
IR Z Julal A E A (RS DL B 55, ] ATHRSRAS A RS 7 21 Re 3 S AR HE 22 1)
Z R RIHTTRE, IR RWT

(DRSS JE BRRr 248 2 Je gtk B H 7 7

* [S? + (0.25 % (C — 3)?)]

coef std err t P=|t] [0.025 0.975]
const -0.7273 7.889 B.092 B.927 16.260 14.8086
x1 -8.3171 8.382 B.038 B.970 16.822 16.188
x2 8.1385 5.774 1.416 B.160 3.238 19.508
x3 4.1692 8.264 B.504 B.614 20.442 12.104
x4 -18.5395 19.827 -0.974 B.331 -56.004 18.925
x5 -5.8194 17.6824 -0.342 B.733 -39.3480 27.701
x6 16.7160 30.795 0.543 B.588 -43.927 77.347
omnibus: 201.569 Durbin-Watson: 1.642
Prob({Omnibus): 0.800  Jarque-Bera (JB): 33083.665
Skew: 2.815 Prob(JB): 0.00
Kurtosis: 19.185 Cond. No. 916.

Notes:
[1] Standard Errors assume that the covariance matrix of the errors is correctly specified.

y = —0.7273 — 0.3171x; + 8.1385x; — 4.1692x3 — 18.5395x; — 5.8194x5 + 16.7100xq
BSF Durbin-Watson f%: & Jarque-Bera 36 /& i 3 14 264, W HH Python 5
MLR [B]H 57 :
y, = 232.988 — 21.092x, + 24.716x, — 5.011x5 + 226.012x, + 25.409xs
— 139.418x
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QPPRE5 B AR A b v 22 25 TU R 1 B 5 D5 72

coef std err t P=|t]| [@B.025 0.975]
const 34.8010 29.415 7.982 0.008 176.883 292.719
x1 25.4511 31.256 0.814 0.416 -B6.996 36.093
x2 33.0086 21.530 1.533 0.126 -9.384 75.401
x3 -3.9719 30.816 0.129 0.898 -64.650 56.7086
x4 216.7327 70.946 3.055 0.002 77.038 356.428
%5 63.1518 63.478 @.995 0.321 -61.838 188.142
x6 23.3812 114.829 0.204 0.839 -202.720 249,482
Omnibus: 91.168 Durbin-wWatson: 1.176
Prob{Omnibus) : 0.800 Jarque-Bera (JB): 461.248
Skew: -1.275 Prob(JB): 6.97e-101
Kurtosis: 8.873 Cond. No. 916.

Notes:
[1] Standard Errors assume that the covariance matrix of the errors is correctly specified.

y = 234.8010 — 25.4511x; + 33.0086x2 — 3.9719x3 + 216.7327xs + 63.1518x5 + 23.3812x¢
JSUE Durbin-Watson 46 /% Jarque-Bera o565 &2 2 35 14 251, AT HH Python 73 H
MLR [2] 575 74
Y, = 5.063 + 4.611x, + 7.898%, — 15.912x; — 26.694x, — 5.158xs — 40.745x,
Gl S b R IME £ TR M EH T 12

coef std err t P=|t| [B.025 0.975]
const 2.8216 9.671 B.292 B.771 -16.222 21.865
x1 3.6748 10.277 B.358 B.721 -23.918 16.561
x2 9.2533 7.879 1.387 B.192 -4.685 3.192
x3 6.5848 16.132 0.650 B.516 -26.535 3.366
x4 -21.5972 23.327 0.926 B.355 -67.528 24.334
x5 -11.2795 20.871 0.5408 B.589 -52.375 29.816
X6 2.4244 37.755 0.064 B.949 -71.916 76.765
omnibus: 38.636 Durbin-Watson: 1.608
Prob({Omnibus): 0.0088 Jarque-Bera (JB): 6096.254
Skew: 3.424 Prob(JB): 0.00
Kurtosis: 25.249 Cond. No. 916.
Notes:

[1] Standard Errors assume that the covariance matrix of the errors is correctly specified.

y = 2.8216 — 3.6748x, + 9.2533x, — 6.5848x; — 21.5972x, — 11.2795x5 + 2.4244x¢
IAE Durbin-Watson f556 & Jarque-Bera #6567 /& & & 14 5514k, "I H Python 3
MLR [A] 5757
ys = 265.837 — 8.333x, + 10.870x, — 4.294x; + 197.089x, + 30.815xs
— 133.200x4

(4) PR STihRr EAr i E L T B 5 772 -



AR e 8 )RR AR S i BT L e CSU $iifz 3% A5 2022261

coef std err t P=|t] [0.0825 8.975]
const 203.3528 34,505 5.893 0.000 135.412 271.293
x1 -39.8312 36.665 1.086 0.278 -112.025 32.363
x2 44.6137 25.255 1.767 0.078 -5.114 94,342
x3 1.2704 36.149 0.0835 0.972 -69.907 72.448
x4 244.7439 83.223 2.941 0.004 B80.876 408.612
x5 57.4122 74.462 0.771 0.441 -89.206 204 .030
x6 27.2312 34.699 0.202 0.8480 -237.995 292 .457
Omnibus: 94,154 Durbin-wWatson: 1.109
Prob(Omnibus) : B.000 Jarque-Bera (JB): 435.794
Skew: -1.358  Prob(JB): 2.34e-95
Kurtosis: 8.600 Cond. No. 916.

Notes:
[1] Standard Errors assume that the covariance matrix of the errors is correctly specified.

y = 203.3528 — 39.8312x, + 44.6137x; + 1.2704x; + 244.7439x, + 57.4122x5 + 27.2312x,

JSUE Durbin-Watson 46 /% Jarque-Bera o565 &2 2 35 14 251, AT HH Python 73 Hi
MLR [51J75 7
ya = 1.530 + 5.522x, + 7.223%, — 13.924%; — 20.731x, — 0.081xs — 21.009x,
()RS TR IE £ SR [F 5 1R

coef std err t P=t] [B.0825 8.975]
const 9.9892 3.504 2.851 B.08s5 3.090 16.889
x1 -7.6164 3.724 -2.045 B.042 -14.948 -0.285
x2 3.8024 2.565 1.483 B.139 -1.248 8.853
x3 5.2722 3.6871 1.436 B.152 -1.9586 12.5081
x4 -3.0590 8.452 -0.362 B.718 -19.7681 3.583
%5 1.50853 7.562 B.199 B.842 -13.385 16.395
x6 15.463 13.679 1.130 B.259 -11.471 42,399
Omnibus: 4.194 Durbin-Watson: B.778
Prob(Omnibus): B.123 Jarque-Bera (JB): 4.281
Skew: -6.291  Prob(JB): 0.118
Kurtosis: 2.798 Cond. MNo. 916.

Notes:
[1] Standard Errors assume that the covariance matrix of the errors is correctly specified.

¥ =9.9892 — 7.6164, + 3.8024, + 5.2722; — 3.0590, + 1.50535 + 15.4639x,
IAE Durbin-Watson f5:56 & Jarque-Bera #6567 /& & & 14 25 14F, "I H Python #3iH
MLR [B]H 57 :
ys = 7.173 — 5.074x, + 5.762x, + 1.588x; — 8.096x, + 9.068xs + 22.527x¢
(MRS SRR bRt 2 2 Je e M 5] 9 7 72
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coef std err t P=|t]| [B.025 0.975]
const 1.50823 1.257 1.195 @.233 0.974 3.978
x1 0.1300 1.336 6.097 B.923 2.501 2.761
2 0.3995 @.920 B.434 0.665 2.212 1.413
®x3 0.3247 1.317 B.246 0.806 2.269 2.919
x4 0.3529 3.033 B.116 0.9a7 6.325 5.619
%5 5.6869 2.714 2.096 0.6837 -11.0630 -0.344
E{i] 1.8671 4,909 B.380 0.784 7.798 11.532
Omnibus: 223.455 Durbin-Watson: 1.792
Probi{Omnibus): 0.800  Jarque-Bera (JB): 6610.393
Skew: 3.018 Prob(JB): B.00
Kurtosis: 26.477 Cond. Mo. 916.
Notes:

[1] Standard Errors assume that the covariance matrix of the errors is correctly specified.

y = 15023 + 0.1300x; — 0.3995x; + 0.3247x; — 0.3529x, — 5.6869x5 + 1.8671x,
B%1IE Durbin-Watson 5% &2 Jarque-Bera £ 353 /& i & P& 4F, A H Python 73 H
MLR [8]J-75 7
Yo = 2.657 + 1.313%, — 1.717x, + 0.193x; — 0.867x, — 4.874x; — 4.013x,
3l EAT OLS [RIA 7 AR 2 e PR A 5 1, Bk RAH OLS AR JA%f LA
KPR AP REIEAT S IR Ik, LR, IE AR RS AEZ BT, 45 45 2R 0
TR

E pRifEZE
Y e} ‘ :
JEMR | P | EAER | R | P FIALES

90624 | 281.0 |302.1 |11.7 |4.04 |[3.92 0. 68
90626 | 280.1 |301.3 [11.8 |4.09 |3.90 0. 70
90627 | 281.1 |302.1 [11.8 |4.18 |4.00 0. 67
90628 | 281.6 |302.4 |11.8 |4.24 |4.03 0. 66
90629 | 280.6 |301.7 |11.8 |4.13 [3.95 0. 68
90630 | 282.1 |302.9 |11.8 |4.16 |[4.02 0. 67
90631 | 281.2 |302.1 [11.8 |4.13 |3.90 0. 67

R 1 HERE SRR ENIREE (OLS)
BT B3R OLS &RAERIHME R, IFE & X BAIAELS J15AVERE 10 22 o2k [ml VA 5
RERJRAARRIE, SHEE RS 2o AT 0 b 5, W] U BRI RS 1A R
BEAT RS PE, PURCRRIE, AR A BMEAARAEZ I TI, 45 A AE R H R

o YA PRz

JiE AR Prdi | R | ER Prdy | fEfHER
90624 | 281.0 302.0 11.8 4. 06 3.61 0. 68
90626 | 280.5 301.6 11.7 4. 08 3. b6 0.71
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90627 | 281.1 302.0 11.9 4.19 3.68 | 0.66
90628 | 281.5 302. 4 11.9 4. 28 3.75 0.65
90629 | 280.8 301.8 11.8 4.14 3.62 | 0.68
90630 | 282.1 302.9 11.8 4. 23 3.74 | 0.66
90631 | 281.2 302. 2 11.8 4.12 3.60 | 0.66

R 2 IERIFS MR F R EN SR EZE (MLR)

5.2.2 BLRY R B R

BERZ a) @ AT I FH OLS (5 /N — 361k [l A 3R 4 Bh 22 7 26 % [B] V5 (Multiple Linear
regression) KA . OLS(#pe /N —IVEE N —M Il HFBAER, F A T2 R
SR, EREERAR T R, R K LA AT S (B RIS R il (B 2 22 ()P 07 Ak B £
NHE, R HAE NS EASTHE . AU, I iR/ MEGR ZE P J7 A SR SO ) g A R
HULEC . A A/ ek my LTS SR 15 AR FN R G, AR 1R LR 15 1 B s 5 SE b
Htls 2 (B R ZE 17 U BN
5.3 FE=
5.3.1 BRI SB I K AR
® W 5 1R G R R —— SR A

BE 1 Hp ) o¢ RS i B )P 1 E Jo R VE
® LI HHE UG R —— Tk [

I FH AR B0 S 56 B4l O o AT O, FL R 1 SEEGAE %% a0 B A9 DX TA] )
B E . (LLEE OB R, BT ] C B U A 4DL LSS0, S 1) Rl D 2 44
KKIETH

i1 E 4 BT B LB A F s S gadicdfa o A R RO S OCEsUR L, B EL J9fBilaT
R
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BN EL O SRR SR ER S BT R, ELA2EROTTE 0. 504% /2 A5, SR30%L
PGB Z o DRI R R X RIS ) A A T SR T A PR R SR (4 (RIS SN 555w,
NI X (A1 R T SEae B R 5 B

BIXE B B0 o AR A — 4 B BRI S, 76 B AR A4 0. 500%, SEIGHdE &
U2, BIHAE DX R)3E Rl P S8 s D T etk

EES EL B SRR e BT A, 78 B1ALZERRG A 0. 497%0, SEEEHRIA IR
ez, RIHAERCIX R)YE ] P SEae R () T Bt
® M HTICE R A I A M RE I R M —— A A

DAR:— & B uE, eIt UE TR S BT BN 0.05%0sh, ML R A
REMIEAR, 2B R B — 0 ik AR € — 70 1347 107 1) OBCGE il o i fe 2k
HEE R ERYEEES) 0. 05%dE, FERIA Pandas F1 NumPy FEGUERIIAC REGERE, B4
ISR E R
® AT RIRF I IE—— kA

T SR FH PSR R A B i R A DG PERE SR N BT R be g, Rk AR,
PAFRRE I TV A4S, R b M AT 3. BB R R &8 GRRSR
N R TREAE SR, e E IR K], S ERCE RO — M =5 J 1 (fi
Je G FERMI RN 12 ), 2 R AWIE R AT S . TEHSRM AP
A /N B B Bl b — 2P AR NG BIA B AR, BLARUESEE0 R BUS v R . 24 X JR)YE
L A2 1% /N Bz 7 0734 P R0 9 L B 7 O S R i i, WU 28 0B S8, R S A
Aff.

FEME =R TR 12 RIS Pidi. M) J5, NI AR ERIiL 2
BATSREGTT 58, AR CAEAE (b2 sr 5 TR A 4D CTRRR “ Yesi
Bl D, WIEPHE & T3 =R 122 i s L R L 58 AR O 0 S50 s 2 1 1)
FIAH B CTAR “ORE 7 O, BRI S s & s br s o i e L, 7636 2 1 R
(0 B Y i v i 20 PN 0 M A S0y VT SR I (X SN s (A N M i P 5
SEI D R B TS DLEAR AT, KA 2 PG oL . AP

bt J5 BB [A — A B AN R ) PR R T IE BRI e, G SRR 2 (B A K
A S, TUIET BB H SR B R i s T L, G 0 IR PR v S X TRV R, FEHEAT
NP AR R SR B AT A 2 A AE A IR B S LRI R R AR RO, R
TR B /N 4, R LR P 43 B A T 2 2 i 4D A . R R % S 6 & TR 52 52 il () A
SEVREN, AW ARCE KB — A = RIS, B AR R IE LS SRS B R 1 [
i, AT AR ARG B AR T PEARSE IR A, [RIE A E S 4 1 S R BB SR I T &R

DA 3 LA R RS N A -
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O —: HFER— T BT SR (THR)
E AR RS YD AT R X AN

BUZMD ST S EtPa S BRIEALS S
320 300
316 296
312 292
308 305 =2 < 288 2
Ef 2392 E3 =
ﬁ e 301 5 284 2021 *"‘-\ =5
# o
ﬁ 300 297 E3 = 280 i g
§ 2l iy & N \-—.___,__.—-—/ 275
292 272
288 268
284 264
280 260
min max pe ma
BEUERSBEDLE BERERDBEDLE

TRERIERFEERNOZE Rt RENNTRESE

AT
m
b
e .
4
HTE
b
e -
B

REAN TEES

PR A TCR Z AR AE SR, MIHEAT B . RHE 22 A R
TR TVE TR E .

FERSELSEARIENER FCERSELSHATREER

(ERHEISIHENER

RS ERFMER
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RIS
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ST
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260

0200 0205 0210 0215 0220 0225 0230 0235 0175 0180 0185 0150 0195
ez B

e SITHEN R

fGERAEOS ERBENXF

RS

S

R PRI, IR A s RS Lo DX s, St T FEI e e Pl 0
A PO SCH.
Bl=: FHER— T RSB, (WD)
AR R BN C R X

BEEHEER NN TREE

TEEALEREERTNES

e
IR £3
& #
: -
E4 018 :;.
E4 015
ES 0.08
E o1
E6 002
o0z
FERES SRE

I HTERR AR, Eb SRS EAL TR (B5 SRS AR EIELE, SHERERE
JRSED) o BN R EEE ] SR A TRE P4/ e geya L, 5eiEin 0. 08 5 1. 10 [y
[EEL 0. 95% R HEMIA L B2t AT b OB BT 0. 95% 2 A MR 1% Pandas A1 NumPy
FORARBOERFRIRD |, W~
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E5TT R & BTE0.95%M 3 B AR FIE (R R A TP LI AN EXI LE
100
90
80
70 5
60
s0

40

B EE ST

30

20

[ AR SEAREEYFIE

PR

HHAE AT, 7R 0. 95%MERHE I, TR B Bl al IR SR, FrbAfE 7 —
53771, BIE 0. 1% 77 R ZRERIEAR "y (RIEFHEEACERCRI T IERE) |, IR EUHT
HENE 0. 1006%3H 7555, e BB LA PRI E LK. &illde, A2 )5, JoERm
Ay R T R IR PTG I B (b £ 0. 1053% 2545 5 [T B AN B8 4 FE P I e /R
DU ) e SIS AT AZE 1 E, ARSI TR AN K. R ZHfiE B5 JuaRiisr R — 405k
IG5 0. 1053% AL R

n sies i mas

6 BRZU LA
6.1 BRIIHT

P& S L

PR B R0 2 5 L B AR JBE B DR KT i R R o 23 228 Y A Ak R S5
By ARBUR A — A SR AR logon,  HSRIRFEBUBURIN, AR SEm R HRI] R .
6.2 R PR HT

rE kRN REDT
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BATGIN 2 T (AR PP A R B AT A 2 R TR0 R A P A2 AR o, P38 4
XiRZE (mean absolute error, f& #X MAE). HEZEX] % 2 (median absolute error, f&FK
MedAE) VAl B2 ) Tl G877 S AR g 1t o PARH T VR EE G oPAl, PPN SEIGE AR IR 22 7

(CREEATR

iz mae AT TSR AT o] MIAEAR AL BB T A RS =T AV ERE M IE, B

UEEDS= YRR 5

from sklearn.metrics impert mean absolute error
# HHS ¥ ae
y = np.array(dist2 qufu)

X train, X test, y train, y test = train test splitix, y,

nodel = LinearRegression().fit(X_train, y train)
y_pred = model.predict(x)

mae = mean_absolute error(y, y_pred)

print ("HESERISESE nae: * + strimae))

HHSEESEE nae: 2.7263506275139773

# HSE

y = np.array(dist2

mae

kangla)

test size=0.25, random state=42)

X train, X_test, y train, y test = train_test_split(x, y, test_size=0.25, random_state=42)

model = LinearRegression().fit(X train, y train}
y_pred = model.predict(x)

mae = mean absolute errorly, y pred)
print("HESRABIESE nae: " + strimae))

HHSHMSHESE nae: 2.322309498424725

# HHHSH

ae
y = np.array(dist2 yanshen)

X train, X test, y train, y test = train test split(x, y,

model = LinearRegression().fit(X_train, y_train)
y_pred= model.predict(x)

mae = mean_absolute errorly, y pred)
print("HESEEESESE mae: * + strimae))

HHSEAESEE nae: 0.31346620270275244

test size=0.25, random state=42)

iz i medae BEAT U SL0 A rTROCERA AL ¥ BN (UMD RS =30 SR RERIIME, LR
YL R

from sklearn.metrics import median_absolute error
& HESEISE MedAE
y = np.array(dist2_qufu)

X_train, X_test, y train, y test = train_test_split(x, y,

model = LinearRegression{).fit(X train, y train)
y_pred = model.predict(x)

medae = median absolute errorly, y pred)

print ("H#E SEIEHIEISE medae: " + str(medae))

MESERMEE nedae: 2.0208065954226274

# HESHH fedAE
y = np.array(dist2_kangla)

test_size=0.25, random_state=42)

X train, X test, y train, y test = train test split{x, y, test size=0.25, random state=42)

model = LinearRegression().fit(X _train, y train)
y_pred = model.predict (x)

medae = median absolute errorly, y pred)
print("HESHITEEEE medae: * + strimedae))

S REHHERIE nedae: 1.848467938080688

FIIH MedAE
y = np.array(dist2 yanshen)

X_train, X_test, y train, y test = train_test split(x, y,

model = LinearRegression().fit(X train, y train)
y_pred = model.predict(x)

medae = median_absolute error(y, y pred)
print("HESHEMERIENE nedae: = + strimedae))

HHSEMESESE nedae: 0.26360919435810626

test size=0.25, random state=42)

IEH R 7S, AT B E N AR S =T S MR RE AR, B U ]

W& B

import statsmodels.api as sm

x = sm.add_constant{np.array([distl _E1, distl E2, distl E3, distl E4, distl E5, distl E6]).transpose())

# S L
y = np.array(dist2_qufu)
model = sm.OLS(y, x)
results = model.fit()
print(results.summary())

S EEASE

OLS Regression Results

Dep. Variable: y R-squared:

Model: OLS Adj. R-squared:
Method: Least Squares F-statistic:

Date: Sun, 03 Jul 2022 Prob (F-statistic):
Time: 14:20:56 Log-Likelihood:

No. Observations: 270 AIC:

Df Residuals: 263 BIC:

Df Model: 6

Covariance Type: nonrobust
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# HESIHEESERTRE

y = np.array(dist2 kangla)
model = sm.OLS(y, x)
results = model.fit()
print{results.summary{))

OL5S Regression Results

Dep. Variable: y  R-squared: B.852
Model: OLS  Adj. R-squared: B.831
Metheod: Least Squares F-statistic: 2.425
Date: Sat, 02 Jul 2022 Prob (F-statistic): 0.0268
Time: 22:12:18  Log-Likelihood: -699.25
No. Observations: 278 AIC: 1412,
Df Residuals: 263 BIC: 1438.
Df Model: 6

Covariance Type: nonrobust

# HNSERERSSEETE

y = np.array({dist2_yanshen)
model = sm.OLS(y, x)
results = model.fit(})
print{results.summary())

OLS Regression Results

Dep. Variable: y  R-squared: p.039
Model: OLS  Adj. R-squared: 0.017
Method: Least Squares F-statistic: 1.793
Date: Sat, 02 Jul 2822 Prob (F-statistic): 0.1a1
Time: 22:12:18 Log-Likelihood: -124.81
No. Observations: 270  AIC: 263.6
Df Residuals: 263 BIC: 288.8
Df Model: 6

Covariance Type: nonrobust

7 RV 5 B
7.1 BT
(1) 1) fE— 43 AE B Python A1 Spss 73 Al /E 73 A AHOC R BUE FE A Gk & ilior 5 =
T R 2 TB] BRI AH SRR 2 D S & Tk 7 S IR A8 ELSE A G 2R 5 e 25 2 ) L 900 6 fh 4 (o
M4 , FERIEW . EDWA T, (R AEAE Bk AR A AT A7 AE B o B B AN
M R HR IO
(2) 1) R —FIFH OLS(#e /M 315 [l A 3 AR 4k B 22 J6 26 4 [1] ) (Multiple Linear regression)
J7i%, AP 2522 B 0 1 RE S M RE B o FE A G S SR A IRAR S
AIAREXT LA R ) J7 2 Re @) DA 7 R R, 6 LA — 28 &1 OLS |l )= 5 F2 AN
MLR [E[JH75%%, ATEAREL MLR #1175 FEA4E OLS 81977 e 5L At s A P
m, SHESHEREE/N, RINOAEEE S, #T LRI OLS(F/h —3fi%) bl A
ARG B 22 70 2 M 0] 91X — B 2 AR DURS mokG BE I 7 R o 1 & A2 o 5 70 %
PERERE X R KILFEFIHH OLS [HIHM RS HARTS H 2 Jo 2 13 (MLR )
I (R4 E SRS R D S 1t RE Y (B AR e ZE 30 d, HL B R S ] S 1) £ 2 Al
B A v RS A o AHL[R]ISTH0L & BRDRG B 8 e A I8 B PHARRE 15, A7) 7 245 ) B /)N
IR ZE o
(3) Il = 254 o) RO — R ) R, AR MR ZEAiE N, H vk S B 7T EE
W SHIEAS B Ao PRI, AR EEARK) @O R AT, X Tl AE oot 7= it i ESe A
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B . BEE R SR NER, AV NS RS AR AU 7]
A, 5T IR T E RHAR A

7.2 RREY B

(D BdEEd k. W T8, B BN L S

(2) RELKEITH MR EIA L, KRRTEEG R, BALD TS, MR AR
SRTREHIEE . WA R

(3) S Hish—In 2 R MIRLER, AR5 5] R SR HEAT SN A THI 5047 -

7.3 MR IHE

R DU BB T A T, ATRAA xi SR SR T2 R RE
BAFRIE, NI — 5 MRS BRI T2 5 W . 51 7E o R 1 2 L
R, AR TR SR v [ Bl AR [ R S T [ — VR IO S, ik
PEAR I K AR (B K LD T3¢ 3t 76 B 22 0 81 U 43 7 32 S E B 5 A
VR LT AT AR ST AL G M R IR BT8P S SR, YR LA T
FRELR AN S, TR AL BR B R - it AR, RIS e 2 B O

S 3 R
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PR A: ALSER B TSR P REROE b 2

B (RS
RAFMREERAN

% B: ARG

pd.ExcelFile (
) origin data:
pd chemicals raw = pd.read excel (origin data

1)

pd physics raw = pd.read excel (origin data

pd chemical = pd chemicals raw.iloc]|

pd physics = pd physics raw.dropna (how=

pd physics ronglianhao = pd physics.iloc[: ] .astype (
pd physics qufu = pd physics.iloc][: ]

pd physics kangla = pd physics.iloc|:

pd physics yanshen = pd physics.iloc][:

comp table = pd physics.iloc[: ] .duplicated (keep=

phy num =

phy dict
phy qufu
phy kangla
phy yanshen
temp =
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i range (phy num) :

phy qufu.append (pd physics qufufli])

phy kangla.append (pd physics kangla[i])

phy yanshen.append (pd physics yanshen([i])
(comp_ table[i] == ) g

phy dict[pd physics ronglianhao[i]] = [phy qufu, phy kangla
phy yanshen]

temp +=

phy qufu =

phy kangla

phy yanshen

phy dict qufu mean

phy dict qufu std =

phy dict kangla mean

phy dict kangla std =

phy dict yanshen mean = {}
phy dict yanshen std = {}

phy dict qufu mean list = []
phy dict qufu std list = []
phy dict kangla mean list = []
phy dict kangla std list = []
phy dict yanshen mean list = []
phy dict yanshen std list = []

key phy dict:

np physics array qufu = np.array(phy dict[key] [0])

np physics array kangla = np.array(phy dictlkey] [1])
np physics array yanshen = np.array(phy dict[key][2])
phy dict qufu mean[key] = np physics array qufu.mean ()
phy dict qufu std[key] = np physics array qufu.std()

phy dict kangla mean[key] = np physics array kangla.mean ()
phy dict kangla std[key] = np physics array kangla.std()

phy dict yanshen mean[key] = np physics array yanshen.mean ()

phy dict yanshen std[key] = np physics array yanshen.std()

pd chem ronglianhao pd chemical.iloc[: ] .astype ( )

pd chem ronglianhao pd chem ronglianhao.drop duplicates () .reset in-

dex () .1loc[: ]

pd chem E1 data pd chemical.i = .reset index() .iloc
pd chem E2 data pd chemical.i : .reset index () .iloc
pd chem E3 data pd chemical.i : .reset index
pd chem E4 data pd chemical.i = .reset index() .iloc

pd chem E5 data pd chemical.i = .reset index() .iloc

0
)
)
0
0
)

[

[
.1loc[:

[

[

[

pd chem E6 data pd chemical.i : .reset index () .iloc
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pd chem E1
pd chem E2
pd chem E3
pd chem E4
pd chem ES5
pd chem E6

temp =

range (
(1 % = temp != ) 2

pd chem E1[pd chem ronglianhao[temp] ] (pd_chem E1 datali
pd chem E1 datali]) /

pd chem E2[pd chem ronglianhao[temp] ] (pd_chem E2 datali
pd chem E2 datafli]) /

pd chem E3[pd chem ronglianhao[temp] ] (pd_chem E3 datali
pd chem E3 datafli]) /

pd chem E4[pd chem ronglianhao[temp] ] (pd_chem E4 datali
pd chem E4 datafli]) /

pd chem E5[pd chem ronglianhao[temp] ] (pd _chem E5 datali
pd chem E5 datafli]) /

pd chem E6[pd chem ronglianhao[temp] ] (pd _chem E6 datali
pd chem E6 datafli]) /

temp +=

El list []
E2 list []
E3 list []
E4 list []
E5 list []
E6 list []
key pd chem E1:

key phy dict:

El list.append(pd chem El[key

E2 list.append(pd chem E2[key
pd chem E3

E3 list.append key

E4 list.append(pd chem E4[key

E5 list.append(pd chem E5[key

(
(
(
(
(
(

[ 1)
[ 1)
[ 1)
[ 1)
[ 1)
[ 1)

E6 list.append(pd chem E6[key

phy dict qufu mean list.append(phy dict qufu mean[key])

phy dict qufu std list.append(phy dict qufu std[key])

phy dict kangla mean list.append(phy dict kangla mean[key])
phy dict kangla std list.append(phy dict kangla std[key])

phy dict yanshen mean list.append(phy dict yanshen mean[key])
phy dict yanshen std list.append(phy dict yanshen std[key])
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.array(E1 list
.array (E2 list
.array (E3 list
.array(E4 list
(
(

.array (E5 list

)
)
)
)
)
)

.array (E6 list

distl E1
distl E2
distl E3
distl E4
distl E5
distl E6

dist2 qufu = np.array(phy dict qufu mean list)
dist2 kangla = np.array(phy dict kangla mean list)

dist2 yanshen = np.array(phy dict yanshen mean list)

dist3 qufu = np.array(phy dict qufu std list)
dist3 kangla = np.array(phy dict kangla std list)
dist3 yanshen = np.array(phy dict yanshen std list)

hist2d create hist2d

create hist2d(distl E1, dist2 qufu, title=
xlabel= ylabel= )

create hist2d(distl E1, dist2 kangla, title=
xlabel= ylabel= )

create hist2d(distl E1, dist2 yanshen, title=

xlabel= ylabel= )

create hist2d(distl E2, dist2 qufu, title=
xlabel= ylabel= )

create hist2d(distl E2, dist2 kangla, title=
xlabel= ylabel= )

create hist2d(distl E2, dist2 yanshen, title=

xlabel= ylabel= )

create hist2d(distl E3, dist2 qufu, title=
xlabel= ylabel= )

create hist2d(distl E3, dist2 kangla, title=
xlabel= ylabel= )
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create hist2d(distl E3
xlabel= ylabel=

create hist2d(distl E4
xlabel= ylabel=

create hist2d(distl E4
xlabel= ylabel=

create hist2d(distl E4
xlabel= ylabel=

create hist2d(distl E5
xlabel= ylabel=

create hist2d(distl E5
xlabel= ylabel=

create hist2d(distl E5
xlabel= ylabel=

create hist2d(distl E6

dist2 yanshen

)
dist2 qufu
)
dist2 kangla
)

dist2 yanshe
)

dist2 qufu

fig=(

dist2 kangla

fig=(

dist2 yanshe

dist2 qufu

CSU Hisifz g

title=

title=

title=

n, title=

title=
))
title=
))
n, title=
fig=(
title=

xlabel= ylabel= )
create hist2d(distl E6, dist2 kangla, title=

xlabel= ylabel= )
create hist2d(distl E6, dist2 yanshen

xlabel= ylabel= )

title=

OlsModel

ols calcutate all

linear regression
linear regression
distl E4

X = np.array([distl El distl E5

distl E6]) .transpose ()

distl E2, distl E3

np.array (dist2 qufu)
OlsModel (x

y =
)

qufu mean ols model =

np.array(dist2 kangla)
OlsModel (x

y =

kangla mean ols model = v)

np.array(dist2 yanshen)
OlsModel (x

y =

yanshen mean ols model = V)

np.array(dist3 qufu)
OlsModel (x

y =
qufu std ols model =
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y = np.array(dist3 kangla)
kangla std ols model = OlsModel (x, vy)

y = np.array(dist3 yanshen)
yanshen std ols model = OlsModel (x, vy)

linear regression MlrModel

linear regression mlr calcutate all

X = np.array([distl E1l, distl E2, distl E3, distl E4, distl E5
distl E6]) .transpose ()

y = np.array(dist2 qufu)
qufu mean mlr model = MlrModel (x, Vy)

y = np.array(dist2 kangla)
kangla mean mlr model = MlrModel (x, y)
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y = np.array(dist2 yanshen)

yanshen mean mlr model = MlrModel (x, y)

y = np.array(dist3 qufu)
qufu std mlr model = MlrModel (x, vy)

y = np.array(dist3 kangla)
kangla std mlr model = MlrModel (x, vy)

y = np.array(dist3 yanshen)
yanshen std mlr model = MlrModel (x, y)

heatmap create heatmap

dataset = pd.DataFrame (

{ : phy dict qufu mean list : phy dict kangla mean list

phy dict yanshen mean list
np El1 : np E2 2 : np E4 : np E5
np_E6})
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create heatmap (dataset)

seaborn

sns.set (font=

create lineplot (dataset, x

sns.lineplot (x= y= data=dataset)

sklearn.linear model LinearRegression
sklearn.model selection train test split

statsmodels.api sm

OlsModel:
__init (self, x, y):
self.x = x
self.y = vy
self.results = self.create model ()

create model (self) :

x = sm.add constant (self.x)
model = sm.OLS (self.y, x)
results = model.fit ()

results

MlrModel:
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__init (self, x, y):

self.x = X

self.y =

self.results

self.create model ()

create model (self) :

X train, X test, y train, y test = train test split(self.x, self.y
CESE_Silze= random state=42)

model

LinearRegression () .fit (X train
model

y _train)

ols calcutate all(x, qufu mean ols model

qufu std ols model
kangla mean ols model

kangla std ols model

yanshen mean ols model, yanshen std ols model) :

+ str(qufu mean ols model.results.predict(x)) +

+
+ str (yanshen mean ols model.results.predict (x))

+ str(kangla mean ols model.results.predict (x))

+
+ str(qufu std ols model.results.predict(x)) +

+ str(kangla std ols model.results.predict (x)) +

+ str(yanshen std ols model.results.predict(x)) +

mlr calcutate all(x, qufu mean mlr model

qufu std mlr model
kangla mean mlr model

kangla std mlr model

yanshen mean mlr model, yanshen std mlr model) :

+ str(qufu mean mlr model.results.predict(x)) +

+ str(kangla mean mlr model.results.predict (x)) +

+ str(yanshen mean mlr model.results.predict (x))

+
+ str(qufu std mlr model.results.predict(x)) +

+ str(kangla std mlr model.results.predict (x)) +

+ str(yanshen std mlr model.results.predict(x)) +

matplotlib.pyplot plt
matplotlib.font manager
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create hist2d(distl, dist2, title, xlabel, ylabel, fig=( )) :
fig, ax = plt.subplots(figsize=fig, tight layout= )

ax.set title(title, fontproperties=myfont)

ax.set xlabel (xlabel, fontproperties=myfont)
ax.set ylabel (ylabel, fontproperties=myfont)
hist2d = ax.hist2d(distl, dist2, bins=20)
plt.show ()

numpy np
seaborn sns

matplotlib.pyplot plt

.rc( unicode minus=
set theme (style= )
set (font=

create heatmap (dataset) :

dataset.corr ()

np.triu(np.ones like (corr, dtype=bool))

= plt.subplots (figsize=(

cmap = sns.diverging palette (

sns.heatmap (corr, mask=mask, cmap=cmap, vmax=

square= linewidths= cbar kws={

plt.show ()
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